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QUESTION 1

Which two high availability features preserve interface and kernel information during reconvergence? (Choose two.)
A. graceful restart (GR)

B. nonstop bridging (NSB)

C. nonstop active routing (NSR)

D. graceful Routing Engine switchover (GRES)

Correct Answer: CD

QUESTION 2

Click the Exhibit button.
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[edit interfaces]
user@router# show

ge-0/0/0 {
unit 0 {
family inet {
address 10.1.1.5/31;
}
family mpls;
}
}
ge-0/0/1 {
unit 0 {
family inet {
address 10.1.1.21/31;
}
family mpls;
}
}
lo0 {
unit 0 {

family inet {
address 192.168.0.2/32;
}

}

[edit protocols bgp group BGP]

userfrouter# show

multihop;

local-address 192.168.0.2;

hold-time 30;

family inet {
unicast;

}

family inet-vpn {
unicast;

}

family ineté {
unicast;

}

family ineté-vpn {
unicast;

}

family 12vpn {
signaling:

}

family route-target:;

peer-as ©5514;

local-as £5514;

neighbor 192.168.0.1;
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Referring to the exhibit, which two statements are true? (Choose two.)

A. The configuration is for an external BGP session

B. The local-address statement is required for the BGP session to establish correctly
C. The multi-hop statement is required for the BGP session to establish correctly

D. The configuration is for an internal BGP session

Correct Answer: BD

QUESTION 3

Click the Exhibit button.

R1 R2

Priority: 255 Priority: 128

Priority: 0 Priority: 254

R3 R4

Referring to the exhibit, which statement is correct?
A. R2 will be the designated router

B. R3 will not participate in the election process

C. R1 will not participate in the election process

D. R4 will be the designated router

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/configuring-ospfareas.html#id-
example-controlling-ospf-designated-router-election
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QUESTION 4

Click the Exhibit button.

[edit]

user@rl# show protocols mpls

no-cspf;

label-switched-path rl-to-r3 {
to 192.168.100.1;
bandwidth 500m;

Referring to the exhibit, which statement is true?

A. The router will attempt to signal the LSP along the IGP shortest path to 192.168.100.1

B. The router will prune links with insufficient bandwidth from the path before beginning the signaling process
C. The router will analyze the traffic engineering database to determine the best path through the network

D. The router will precalculate a valid path through the network for LSP r1-to-r3

Correct Answer: B

QUESTION 5

What is the correct description of an Area Border Router (ABR)?

A. An ABR is an OSPF router with links in two areas, connecting OSPF areas to the backbone
B. An ABR is an OSPF router that injects routing information from outside the OSPF AS

C. An ABR is an OSPF router with at least one link in a Layer 2 area

D. An ABR is an OSPF router with all of its links within an area

Correct Answer: A

QUESTION 6

Click the Exhibit button.
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You are asked to configure OSPF for the network? Referring to the exhibit, how should Area 1 be configured?
A. stub area

B. totally stubby area

C. not-so-stubby area

D. backbone area

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/configuring-ospfareas.html

QUESTION 7

Which action would you use to connect two virtual switches that are configured on the same router?
A. Create a VRF routing instance

B. Create a forwarding routing instance

C. Connect the virtual switches with a cable

D. Configure an irb interface

Correct Answer: B

QUESTION 8

Click the Exhibit button.
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[edit policy-options]
user@router# show
policy-statement load-balance-all {
then {
load-balance per-packet

You have applied the policy shown in the exhibit to the forwarding table on an MX Series device. How is traffic load-
balanced?

A. per frame

B. per packet
C. per segment
D. per flow

Correct Answer: B

QUESTION 9

You have two MX Series devices connected together and configured for Layer 2 operations. The interface that connects
the two routers must carry tagged and untagged traffic.

Which approach would meet this objective?

A. Configure the interfaces as access ports with the native VLAN option
B. Configure the interfaces as trunk ports with the native VLAN option
C. Configure the interfaces as access ports with the voice VLAN option
D. Configure the interfaces as trunk ports with the voice VLAN option

Correct Answer: B

QUESTION 10

Click the Exhibit button.
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[edit]
user@Rl1# show interfaces
ge-0/0/1 {
unit 0 {
family inet {
address 172.18.1.1/30;
}

}
lo0 {
unit 0 {
family inet {
address 192.168.254.1/32;

}
}

[edit]
user@R1# show routing-options

[edit]
user@R1l# show protocos ospf
area 0.0.0.0 {

interface ge-0/0/1.0;

}

[edit]
user@rR2# show interfaces
ge-0/0/1 {
unit 0 {
family inet ({
address 172.18.1.2/30;
}

}

[edit]
user@R2# show routing-options
router-id 192.168.254_.1;

[edit]
user@R2# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
hello-interval 10;
dead-interval 40;
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You configured R1 and R2 to form an OSPF adjacency, but the adjacency will not establish. Referring to the exhibit,
which statement correctly identifies the problem?

A. Hello and dead timers are not matching between R1 and R2
B. R1 does not have a router ID defined

C. R1 and R2 have the same router ID

D. R2 has a wrong area configured

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/configuration-statement/ router-id-edit-
routing-options.html

QUESTION 11

Which MPLS feature works with Constrained Shortest Path First (CSPF) to protect against the primary and secondary
paths using the same link?

A. fate-sharing

B. explicit null configuration

C. policy control over LSP selection
D. LSP metrics

Correct Answer: A

QUESTION 12

Click the Exhibit button.

[edit protocols]

'lbg—pl'
Error in neighbor 192.168.1.2 of group my-int-group:
peer AS number must be configured for an external peer

error: configuration check-out failed

You are configuring an IBGP group. When you commit your configuration, you receive the error shown in the exhibit.
Which additional configuration parameter must you add to your configuration?
A. multipath

B. type external
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C. type internal
D. export

Correct Answer: C

QUESTION 13

Click the Exhibit button.

[edit]
userf@routerl$# show pIGtGCOIS Dspf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p;
bfd-liveness-detection {
minimum-interval 300;
multiplier 3;

[edit]
user@router2# show protocols ospf
area 0.0.0.0 {
interface ge-0/0/1.0 {
interface-type p2p;
bfd-liveness-detection {
minimum-interval 400;
multiplier 3:

Referring to the exhibit, if there is a connection failure between routerl and router2, how much time will pass before the
devices declare the BFD session dead?

A. 1200 ms
B. 300 ms
C. 600 ms
D. 900 ms

Correct Answer: D
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QUESTION 14

Which RSVP object allows LSRs to influence path selection?
A. record route object

B. explicit route object

C. hop object

D. session object

Correct Answer: D

QUESTION 15

Which three attributes are well-known mandatory BGP attributes? (Choose three.)
A. next-hop

B. AS path

C. local preference

D. MED

E. origin

Correct Answer: ABE

Reference: https://www.kwtrain.com/blog/bgp-pt2
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